# EXHIBIT E

14232 Marsh Ln., Ste. 419 Addison, TX 75001 Phone # 817-688-6186 Fax # 888-528-2654

Invoice

Invoice #
6405

rfreeman@brayand freeman.com

Bill To

Quilling, Selander, Cummiskey & Lownds 2001 BRYAN ST. SUITE 1800 DALLAS, TX 75201 RE: SEC v CORRELL and TNT OFFICE SUPPLY

			Client Matter#	Terms		Cas	e#
				Due on reco	eipt		
DATE	ACTIVITY		DESCRIPTION		Qty/Hrs	Rate	Amount
1/3/2008	PROFESSIONAL SERVICES		430 - MEETING WITH C MEETING WITH BUSH R		5.5	100.00	550.00
1/4/2008	PROFESSIONAL SERVICES	INVESTIGATOR 4	430 - MEETING WITH C ESEARCH RE: ONE SM		3.5	100.00	350.00
1/5/2008	PROFESSIONAL SERVICES		430 - RESEARCH RE: SO		2.5	100.00	250.00
1/6/2008	PROFESSIONAL SERVICES	Little Control of the	430 - MEETING WITH B	USH RE: ONE	2	100.00	200.00
1/7/2008	PROFESSIONAL SERVICES		430 - RESEARCH RE: CA	ARLISLE &	1.5	100.00	150.00
1/10/2008	PROFESSIONAL SERVICES	INVESTIGATOR 4	430 - PREPARATION FO EETING WITH MDC & C		3.5	100.00	350.00
1/11/2008	PROFESSIONAL SERVICES	INVESTIGATOR 4 INVESTIGATOR 4 COMPILING ONE	470 - MEETING WITH 430 TO RECEIVE DATA SMART TOOL SPREAI G & FORMATTING DAT	OSHEET;	3	40.00	120.00
				Subtota	ı		
BRAY & FR	KE CHECKS PAYABLE TO: EEMAN, L.P.			Sales Ta	ax (8.25	5%)	
	in full upon receipt to: Ln., Ste. 419 75001			Total			
				Retaine	r Applie	d	

14232 Marsh Ln., Ste. 419 Addison, TX 75001 Phone # 817-688-6186 Fax # 888-528-2654

Invoice

Date	Invoice #
11/30/2008	6405

rfreeman@brayandfreeman.com

Bill To

Quilling, Selander, Cummiskey & Lownds 2001 BRYAN ST. SUITE 1800 DALLAS, TX 75201 RE: SEC v CORRELL and TNT OFFICE SUPPLY

			Client Matter#	Terms		Cas	e#
				Due on rec	eipt		
DATE	ACTIVITY		DESCRIPTION		Qty/Hrs	Rate	Amount
1/12/2008	PROFESSIONAL SERVICES		R 430 - PREPARATION & D WITH MDC & CBW RE: O		5	100.00	500.00
1/12/2008	PROFESSIONAL SERVICES	INVESTIGATOR	R 470 - CONTINUE ENTER ART TOOL SPREADSHER		6	40.00	240.00
1/13/2008	PROFESSIONAL SERVICES		R 430 - MEETING WITH C		1	100.00	100.00
1/13/2008	PROFESSIONAL SERVICES	INVESTIGATOR	R 470 - COMPLETE DATA ART TOOL SPREADSHEE		7	40.00	280.00
1/14/2008	PROFESSIONAL SERVICES	INVESTIGATOR BANK DOCUM	R 430 - REVIEW & ANALY ENTS RE: CADWELL; TEI WITH CBW RE: THOMPS	LEPHONE	4.5	100.00	450.00
1/17/2008	PROFESSIONAL SERVICES		R 430 - MEETING WITH C		1.5	100.00	150.00
1/19/2008	PROFESSIONAL SERVICES	INVESTIGATOR	R 430 - TELEPHONE CON CARLISLE; RESEARCH F		4	100.00	400.00
				Subtota			
BRAY & FR	KE CHECKS PAYABLE TO: EEMAN, L.P.		7	Sales Ta	ax (8.25	%)	
	in full upon receipt to: Ln., Ste. 419 75001			Total			
				Retainer	Applie	d	

14232 Marsh Ln., Ste. 419 Addison, TX 75001 Phone # 817-688-6186

Fax# 888-528-2654

rfreeman@brayandfreeman.com

# Invoice

Date 1/30/2008	Invoice #
0/2008	6405
	-3759685

Bill To Quilling, Selander, Cummiskey & Lownds 2001 BRYAN ST. SUITE 1800 DALLAS, TX 75201 RE: SEC v CORRELL and TNT OFFICE SUPPLY

		Client Matter#	Terms		Cas	e#
			Due on reco	eipt		
DATE	ACTIVITY	DESCRIPTION		Qty/Hrs	Rate	Amount
1/20/2008	PROFESSIONAL SERVICES	INVESTIGATOR 430 - REVIEW OF SSFC	U	2.5	100.00	250.00
/21/2008	PROFESSIONAL SERVICES	DOCUMENTS RE: ONE SMART TOOL INVESTIGATOR 430 - ADDITIONAL REV SSFCU DOCUMENTS; PREP OF DEMAN		3.5	100.00	350.00
/24/2008	PROFESSIONAL SERVICES	INVESTIGATOR 430 - RESEARCH AND I PREPARATION RE: LARRY WILLIAMS		4	100.00	400.00
1/25/2008	PROFESSIONAL SERVICES	PREPARATION RE. L'ARRY WILLIAMS PREPARATION WITH MDC RE: STATUS CONFERENCE & CARLISLE EXPENSES		2.5	100.00	250.00
1/30/2008	MILEAGE	INVESTIGATOR 430 - MILEAGE		235	0.65	152.75
			Subtota			\$5,492.75
RAY & FR	KE CHECKS PAYABLE TO: EEMAN, L.P.		Sales Ta	ax (8.25	%)	\$0.00
	in full upon receipt to: Ln., Ste. 419 75001		Total			\$5,492.75
			Retainer	Annlie	d	40.00
			rtotallioi	Applica	-	\$0.00

14232 Marsh Ln., Stc. 419 Addison, TX 75001 Phone # 817-688-6186 888-528-2654 Fax#

Invoice # Date 12/31/2008 640? TIN #04-3759685

Invoice

rifeeman efficayandfreeman.com

Bill To

Quilling, Sclander, Cumuniskey & Lownds 2001 HRYAN ST. SUTTE 1800 DALLAS, IX 75201 RE: SEC v CORRELL and TNT OFFICE SUPPLY

			Cilent Matter#	Terms		Cas	e#
				Due on rec	eipt		
DATE	ACTIVITY		DESCRIPTION		Qty/Hrs	Rate	Amount
2/1/2008	PROFESSIONAL SERVICES		130 - RESEARCH RE: CZ TED DELIVERY OF SOL		2.5	100.00	250,00
2/2/2008	PROFESSIONAL SERVICES	INVESTIGATOR 4	(30 - MEETING WITH C	BW, MDC &	3.5	100.00	350 (8)
2/3/2008	PROFESSIONAL SERVICES		130 - PREPARATION OF		J.5	100.00	150.00
2/4/2008	PROPESSIONAL SERVICES	INVESTIGATOR -	: THOMPSON RECOVE 130 - REVIEW OF SOLIS EARCH & FOLLOW UP	MACTER	2.5	(0).00]	250,00
2/5/2008	PROFESSIONAL SERVICES		430 - MEETING WITH B	NVESTORS,	1.5	100,00	150.00
2/8/2008	PROFESSIONAL SERVICES		430 - PREP FOR WILLIA	MS	3	199.66	300,00
2/9/2008	PROFESSIONAL SERVICES	INVESTIGATOR	430 - TELEPHONE CON VILLIAMS DIFOSITION		1	100.00	100.00
2/10/2008	PROFESSIONAL SERVICES		430 - MEETING RE: CAI		1	166.66	100,001
	1	1		Subtota	.j	······································	
RAY & FR	KE CHECKS PAYABLE TO: EEMAN, L.P	Ale that .		Sales T	ax (8.25	5%)	1
	in full apon receipt to a Lm., Ste. 419 75001			Total			
				Retaine	r Applie	d	
				Balance	_		

14232 Marsh Ln., Ste. 419 Addison, TX 75001 Phone # \$17-688-6186 Fax# 888-528-2654

## Invoice

Date	Invoice #
12/31/2008	6407
TIN #0	4-3759685

rfreensangibusyandircentum com

Bill To

Quilling, Solander, Cummiskey & Lewinds 2001 BRYAN ST SETTE 1800 DALLAS, TX 75201

			Client Matter#	Terms		Cas	e#
				Due on rec	cipt		
DATE	ACTIVITY		DESCRIPTION		Qty/Hrs	Rate	Amount
2/11/2008	PROFESSIONAL SERVICES	INVESTIGATOR 4	30 - PREPARATION RE	ONE	2.5	100.00	250.90
2/15/2005	PROFESSIONAL SERVICES	INVESTIGATOR 4	30 - FINAL PREP FOR	WILLIAMS	2.5	100.00	250.00
2/16/2008	PROFESSIONAL SERVICES		BU - REVIEW OF SALA P OF THOMPSON RECO		3,	100 00	300.00
2/17/2008	PROFESSIONAL SERVICES	INVESTIGATOR -	130 - MEETING WITH C WDEY & JOHNSON NU OR CADWELL SHOW C	MBERS:	4.5	100.00	450,00
2/18/2008	PROFESSIONAL SERVICES	INVESTIGATOR - CARLISLE SETTI	430 - COMMUNICATIO LEMENT PREP RE. GOV		2.5	100.00	259,00
2/19/2008	PROFESSIONAL SERVICES		430 - JOHNSON RESEA RE: SETTLEMENT & L'AMOUNT	RCH &	3	100,00	300,00
				Subtota	ul		
SRAY & FR	RF CHECKS PAYABLE TO: FEMAN, L.P.			Sales T	ax (8.25	(%)	
lalance duc 4232 Marsh Addison, TX	in full upon receipt to: (Ln., Ste. 419 75001			Total			
				Retaine	r Applie	d	
				Balance			<u> </u>

14232 Marsh Ln., Stc. 419 Addison, TX 75001 Phone # 817-688-6186 888-528-2654 Fax#

## Invoice

Date	Invoice #			
12/31/2008	N407			
TIN #04-3759685				

rfreemage/sbrayanditeeman.com

Bill To Quilling, Schander, Cummiskey & Lowerds 2001 BRYAN ST SUITE 1800 DALLAS, TX 75201 RF: SFC v CORRELL and TNT OFFICE SUPPLY ATTN: CLARK WILL

		Client Matter#	Terms		Cas	e#	
		**************************************	Due on rec	cipt			
DATE	ACTIVITY	DESCRIPTION		Qty/Hrs	Rate	Amount	
2/22/2008	PROFESSIONAL SERVICES	INVESTIGATOR 430 - MEETING WITH INVYERS OF CARLISLE PROPERTY: DI WITH COUNSEL RE.		4.\$	100.00	450.00	
2/23/2008	PROFESSIONAL SERVICES	ENVESTIGATOR 430 - PREPARATION C	F GOWDEY &	3.5	F00,00	350,00	
2/29/2008	PROFESSIONAL SERVICES	INVESTIGATOR 430 - TELEPHONE CONFERENCE WITH CHW & MDC RE: POTENTIAL BUYERS OF CARLISLE PROPERTY, EXHIBIT & WITNESS		WITH CIEW & MDC RE: POTENTIAL BUYERS OF	2.5	(4),001	250.00
2/30/2008	PROFESSIONAL SERVICES	PREPARATION FOR ONE SMART TOO INVESTIGATOR 430 - PREPARATION O TOOL EXHIBITS EXPENSES		1.5	(06.00)	150.00	
12/31/2008 MB.EAGE		INVESTIGATOR 430 - MILEAGE		197	8.65	128.05	
			Subtota	******		\$4,778.05	
RAY& FR	KE CHECKS PAYABLE (O: EEMAN, L.P		Sales Ta	ax (8.25	i%)	\$0.00	
	in fall apon receipt to: Un , Sec. 419 75001		Total			\$4,778.05	
	·		Retaine	r Applie	d	\$0.00	
			Balance	Dua		\$4,778.05	